Name Date Class

Writing Linear Equations from Situations and Graphs
Practice and Problem Solving: C

For each situation described in Exercises 1-4, first write an equation
in the form y = mx + b. Then, solve each problem. Show your work.

1. Mrs. Sanchez is given a $550 hiring bonus with a new job. She earns
an average commission of $275 per week. If $68 is subtracted each
week for taxes and benefits, how much does she earn in a year?

2. Alarge farm has 75 acres of wheat and 62.5 acres of corn. The farm
crew can harvest the wheat from 12 acres and the corn from 10 acres
per day. In how many days will all of the fields be harvested?

3. An electrician can wire on average 4.5 houses in a week. How many
months will it take her to wire 55 houses if she wires the same number
each week and figures on 4.5 weeks per month?

4. A water tank holds 24,000 gallons. How many hours will it take for 2

of the water to be used if the water is used at an average rate of 650
gallons per day?

Write an equation in the form y = mx + b for each situation.

> __y . Height (m), y | Time (s), x
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017273 4 162 33
Time (min) 120 20
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Reteach

1. nonproportional; the line does not include
the origin

. proportional; the quotient of y and x is
constant, 12, for every number pair.

. honproportional; the equation is not linear.
. proportional; when the equation is written

in the form y = mx + b, the value of b is 0.
Reading Strategies

1. nonproportional; the line does not go
through the origin

2. proportional; the quotient of y and x is
constant, 3, for every number pair

3. proportional; the equation linear with a
y-intercept equal to 0

4. nonproportional; when the equation is
written in the form y = mx + b, the value of
b is not 0.
Success for English Learners

1. The graph will be a straight line that
passes through the origin.

2. The equation will be linear and when the
equation is written in the form y=mx + b
the value of b is 0.

MODULE 4 Challenge

. pencil through (0, 6)

. pencil through (2, 0)

. parallel lines with slope 3

. parallel lines with slope —0.5
. pencil through (4, 6)

. pencil through (-4, -6)

. pencil through (4, —-6)

. parallel lines with slope 2

. The system is a pencil of lines through
(h, k).
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. Sample answers: 10

6x + 10y =-2

%  3x+ 5y= 10,

11. Sample answers:

6

—, 3x+5y=10,
10 d

10x -6y =-2

12. If the coefficients satisfy A = i the

B1 BZ
lines are parallel. If the coefficients satisfy
A = —i, the lines are perpendicular.
B, A,

MODULE 5 Writing Linear
Equations

LESSON 5-1

Practice and Problem Solving: A/B

1. y=250x + 500; if x = 12 weeks,
y = $3,500.

2.y=-12x+75;if y =0, x = 6.25 days.
3. y = 3x; if y = 54 houses, x = 18 weeks.
4. y =-450x + 18,000; if y = 6,000,

2
X =26 =days.
3 y

5. y=20x
6. y =—-6x+ 360

Practice and Problem Solving: C
1. y=(275-68)x + 550; if y =1 yr, x =52,
y=2%$11,314
y=-12x+75
y=-10x+62.5
If y =0, then x = 6.25 for both equations.
The fields will be harvested after
6.25 days.
.y=4.5x, if y=55, x=12.2 weeks
12.2 + 4.5 =2.7 months
. ¥y =-650x + 24,000; if y = 16,000,
x=12.3 days or 295.2 h
y =20x
y =—-6x + 360

2.

5.
6.

Practice and Problem Solving: D
1.35

2. Answers may vary, e.g. -5, —10 etc.,

depending on the two points.

. Answers may vary, e.g. +1, +2 etc.,
depending on the two points.

.=5
=5
.y=-5x+30
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